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1. @) Write out ¢he olectyom configuration of manganese alom (26Mn) (2%)
b Using Slater’s yules , Glelate 2he ‘effective nuclear chavge of & 3d electrom inMa.
2+ The otder of acid; v4 of bovon halides is B8F; <Bcl; < BBy, Suggest poffiHe wf[am{im;.(_l%)

3. Draw gual "’Cat"'Ve/J the nitrogen 1s photoelectron spee trum of [(o (en); (M0, ), JNOs
Cen = MHxcHacH:MH2) amd dive explanation. (%%
4. (,(3;.,,5 “ bent bond" ¢y describe ¢he triple bond in the acetyflene melecette (3 %)
5. Name the fo//ouriogcom;wamds inEnglish: (@) Csha (b) BaHro (#%)
6. Which ome <in each of e ﬁ/ﬁur/‘rg pairs has the higher IR absovptim fregye 1
Jor cObomds @ 0o (P by tMu(colT or [veeonT™ 1
amd give brief 2xplanation . 6%) |
/A ér,-ve,,:.; 'normaliged wave. fumc{,‘ms g" Zhe three sfl lr/bn'J Wbii'a/s
=5t B oy Uos i blhiclly, ekt bt
Calcalate o ,b,amdc, (a0, b3o ¢20) (3%)
8. Balance he Sollowing vedox reactims :
D 07"+ HaCa04 —> Co, + CEF Cacidic solution) ‘%)
0] Mn04 -+ NO: — Mn0- (s) + NO;  (basic solutrer)
9. Give brief enplanations for ¢he follruring observations,
ORCN02)S" 0 am imert complex while B Ft<a labile.
& e Colha0)™ gon <a pink while #he G0, iom 2 blue.
Qz) Sitla is more easily hydro/yjed than Ccla.. (IR7%)
€ Trisilylamine. is Planar amd <o a very weak base .
[0. The Absorption band in the vis;ble spectrim of Tis0)g>" 4 of low imtensitf .
It <o somewhat broad amd wns mmetrical. Explain thece obsevvatims. (6%)

. Exphin how +, differenﬁate &x[en‘nmz‘u/él betureen members of each P a;rﬂt

he followrin compounds . Describe turp or move methods in add: tim 2o Hhe
X-va4 d: ffraction . ' ‘

G UCoty)sBr] SOg and [Cothit)y S04)Br (b cis— and bras- [Cr-(en)y ]’
O Tty N0 T amd [, i)y oN0T" 9 %)

R Complete 4e Follonwring oguations : (go,
DA NS o D U~ (B, H M

3. As‘s‘ijn term s;méo/sjar zf:’gf,’ electrm mﬁiwﬂzt;‘m. (%)

14 EXFIM”' My HBy and HI are ’fre/mredfram [Y‘o’éa}mﬁm 7’”:13)’ amd MaI,
Pespectively, with Hy P04 but mot with HaSog . (3%)

15 Explain urhy v dinethflformanide, HCONMes »in (HCoNMe) Mo (CO)g 2 am
O—dmov vather than a N-doner 1 G%)
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16. Explain wJ\J ( ’z(i GHg), G Cam Mot be prepared fnrm Cr(e0)¢ amd excess hengene
at hl'gh temperature . (3%)

~ T
(7. Explain w—ha there are many Cavban;[afe amions , M (COx =12, 3;x=%£4,
ohereas there s sofar mo isogyanide amion ,M(CHR)Y peen found . (£

|8 here are three possible reaction Youtes between cis —( 1L G Hs )y Fop(€0); (o =CO) (
Az-CS) omd TE,0][BR) as shown belmr -

(R 9 )

i
KX, »

” e_\ /Fe —+ 0 [BF]

" § \C*‘oéy
3) .

Which youze s themost possible 1 Explain gour choice amd wrrite the
?fed.'cted P‘Ndl{d‘. (5%)

19. Tt waa found that the Yeaction between BrMn (co)s Md' cHs ki gives
e _ L" 0
ca Ban(w)4(c\gH3) ) %Cc\/ 'n/:cr,ol..‘
L!a NCH3

oy Exp)m‘n Luhd the Yeactim can not ﬁ,‘ve a substitation pndaq‘ Cly My (O
b .
()EXf,am Wha Yrans—Br Mu(co)y ( c(gf;; ) is not obtained . (€ %)




